BLAZE INSULATED JACKET ASSEMBLY INSTRUCTIONS

Tools Needed : #2 Phillips Screwdriver - Not Included

Parts List - Insulated Jacket Bottom Panel - Qty .1
Insulated Jacket Back Panel - Qty. 1
Insulated Jacket Side Panels - Qty. 2 ( 1 Right Side - 1 Left Side )
M5 x 12 Truss Head Phillips Screw - Qty. 14 ( shorter screws)
M5 x 25 Truss Head Phillips Screw - Qty. 2 ( longer screws)

Getting Started: Unpack and lay out all of the included parts with protective film side up.
Remove the film from each panel taking extra precaution to not scratch the panels.

1. Line the right side panel up with the bottom panel so the holes in each panel are aligned.
Using the M5 x 12 Screws, attach the two panels . Repeat for step for left side panel .

See diagram below

2. Line the back panel up with the bottom panel and two side panels. Align the holes and
fasten with provided M5 x 12 Screws.

See diagram below

3. The 2 M5 x 25 Screws are used to secure the grill head to the provided holes on the inside of
each side panel of the Insulated Jacket .

*IMPORTANT NOTE - Make sure to take extra care that screws are driven straight into

threads to avoid cross-threading and stripping of the threads.



